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Note : (t) Answers may be written either in English or in Hindi; but the same medium should

be used throughout the PaPer'

(iilT.hemaximummarksprintedonthequestionpaperareapplicable|orthestudents

oftheregularcolleges(Cat..A').Thesemarkswill.lrowever.bescaledup

proportionately in respect of the students of SOL at the time of posting of awards

for comPilation of result'

ftrqufr : (;) {q qF{-q-{ q'r 3-fl{ 3i}$ qr t{<} ffi qq' elTqT ii df,qq; dfu-q qql

e-6ii or qrqq qfi fr AqT qrf6q I

(r,) sq;I-q-Tqi sifddWb\1di*fftq (cat. 'A') *ffiddAfflq et-{sd{cq

t I nqTfr q 3iE' sol * ffifd d qiaiq it 3-{-* qRuTrq 4'{iE;-ifi di

ftIq f{gfi 3ifiiFTuiq $ sqq q{ 3-{* qlSqTrd-c; tiq ri e{it]-fr di I

Attempt l// questions.

qsfr sw *fH I

P.T.O.
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l. @) Distinguish betvt'een :

(') Direct and Indirect Cost

(") Cost unit and Cost center'

eim qarEq :
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7

(,) giqq 3t{ 3Tq-flq fl-frd

(rD f,rq( ar{z etn ertn *-q I

(b)Fromthefollowing,calculateEconomicorderQuantityandthenumberofordersto A

be Placed Per quarter :

QuarterlY ConsumPtion

Cost of Placing one order

Cost Per unit

Storage cost 80% on average inventory

fiqf€fiqf, 
-t 3{rFtfi 3{re{r qr-fl ql 3iR qid ffi t<q qri elA qTS 41

{i@r or qFmeq q1fqq' :

ffi uqa
2000 f{]II.

qfi 3{rt{r R qi ffrRI so {'

efd {frz drRI
4{.

strsfr qlel q{ 80%

2000 kg

Rs. 50

Rs. 4

{snq elrld
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Or

(3TEEr)

union Transport company supplies the following details in respect of a truck of 5 tonnes
capacity :

Cost of truck 
Rs. 90,000

Estimated life l0 years

Diesel, oil 
Rs. 15 per trip each way

Repairs and maintenance
Rs. 500 per month

Cleaner's wages 
Rs. 250 per month

Driver's wages 
Rs. 500 per month

Irxurance 
Rs. 4,g00 per year

Tax 
Rs. 2,400 per year

General supervision charges Rs. 4.g00 per year

The truck carries goods to and from city covering a distance of 50 miles each way.
while going to the city' freight is available to the extent of fuil capacity and on retum z'yo
of capacity.

Assuming that the truck runs on an average 25 days a month. work out :

Operating cost per tonne mile. 
I I

P.T.O.
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{f{qq qiqqi e-qfr s a qlrdT qrd qfr qfr o' qR ri Frafunm Hq-tr

Bqrrer q-{rfr t :

p qfr qtq-d 90.000 F.

ro qd

r 5 F. sfd &q q-&-fr qrf

5oo F. efr q'r6

250 F. qfr qr6

,5oo F. qfr qE'

4,800 F. qfr qd

2.400 {. efr d

4.800 F. qfu ed

3i-Jqfl;|d ql.FI

wtn e.i q-q-$qf

*df,, tf,

qtqf, nzIT {g-{€Ilc{

qr{q{ o,i q-q-dRzf

qlqr

qI

qHFq qfaqrrr lg{

Fd' so qtf, qTi q s0 *f,. eTri Cr q$ qi wer t qro A qTi srt{ dri ti mq

orm t | {rfl qi sq rg Grrm ntR q-f, jilgr eii{ aH qq+ qrrmT Hr 20%

qff, s{rs-r Rqr qror t I

T6 qFffi-{ t*. q-fr qEti ii oirlnq 2s fqq d qEKr t, qor cr-{q :

yfr er fto q-qkfi end I

2. From the information given below. prepare :

(a) a statement showing costing profit or loss: and
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(h) another statement reconciling the costing profits with those shown by financiar
accounts :

Trading and profit & Loss Account

(For the year ended 3lst December, 2013)

Rs.

Materials

Direct wages

1,50,000 Sales (1.50,000 units) 3.00.000

75,000

Indirect Factory Expenses 45.0()0

Office Expenses
13,500

Selling Distribution Expenses 9,000

Net profit 
7,500

3.00,000
3.00,000

The normal output of the factory is2,25,000units. Factory expenses of a fixed narure are
Rs' 27,000' office expenses are for all practicar purposes constant.

Selling and distribution expenses are constant to the extent of Rs. 3,000 and the barance
varies with sales.

ll
+i qi 

'r$ g++reii n fuR Eflfqq :

(q) llru eTsetT Erfr si drrd frqiwr d rqRfd m-G gq *.w et{

P.T.O.
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(s) qs{r s'Tr drrrf, frqi{rr m.ji q-r ffiq M Er{r effifd dr$ t
qqTETr{ 

I

qrqm dqr Fns{ srk Erh *qr
(sr f{Fd{, 2013 e+ TFnqT qS * frq)

1271

qIq

F.
F.

aTqrn ffi rl.5o.ooo tfuWr 3,00.000

ycTqT qri-{Rd

eErFTql +€i sd

s-rqf-dq qs

frq6q f*orvr trd

i+qa crq

r.50.000

75.000

45,000

13,s00

9,000

7.500

3.00.000
3.00.000

W qil qirrq sflr<=T 2,2s,000 {F{e t | {pTrfr Se* g-d 27.000 F tGs{ sq} qrqorR-o Efu t erqq t I

rTdrq derT re-fl{ur q{ 3,000 F. il* erER t cr ,-'sr ,*-d *or * qTer

eEf,t t I

U

leuar)

(a) what do you mean by over-absorption and under-absorption of .r,erheads ? How riould
you treat such over- and under-absorbed factory overheacls in cost accounts ,.) 5

qtatrtfq-d efq qqTqrtfud Bqfrq.{ii t erm Eqr qrqet t ? tS 3leqqqifqd
uil. q'*'r*no Bqlrq=it e1 enq drrkr dEii d +n fr,cin ?
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(b) From the following prepare a cost sheet :

Cost of materials @ Rs' 13 Per unit

Labour cost (O Rs. 7.50 Per unit

FactorY overheads Rs' 45'000

Administration overheads Rs' 50,000

Selling overheads Rs. 2'50 per unit sold

Opening stock of finished goods-500 units @ Rs' 19'75

Closing stock of finished goods-250 units

Sales-l0.250 units at a profit of ZAoh on sales'

tmfofun t er. o {frc fuR 6ifw :

qrqfi e1 orra 13 {. qfd 1P{z 4t E{ t

}Iq ffirrf, 7.s0 {. qrd {F€ 41 ({ t

ffi BqF{qq 45,ooo {.

qqTRTfr$ sqFqq 50,000 {.

f{f,q BqFqq sh ffi {F+a z.so t'

tqn qre *l sKFffi €*'-soo lFra rq'zs {" o.1 E{ t

tqn qro qr 3ifdq d*'-zso {re

ffi-ffi qr 20% dlq qt lo,2so $€t qi
P.T.O.
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3. The product of a manufacturing concern passes through two processes A and B. and

'then to finished stock. It is ascertained that in each process normally 5o/o of the total

weight is lost and l0% is scrap which fronr processes A and B realizes Rs. 80 per

tonne and Rs. 200 per tonne respectively. The follorving are the figures relating to both the

processes :

Process A Process B

Materials in tonnes

Cost of materials in rupees per tonne

Wages in rupees

Manufacturing expenses in mpees

Output in tonnes

1,000

125

29,000

8,000

830

10,000

5.250

780

70

200

Prepare process accounts showing cost per tonne of each process. Also prepare abnormal

Ioss/gain account.

qm' t{qfur sfurr sT sfl-q

ll

A ot{ B El sb.-qr€}ii t Tq{eir t efu c{ qrf,l tqn

d-*. qq61 | | T6 gfqfuqn fu-qr qqT t t*. lr&*. eB-qT ii qrqFqd: {cr qR

6r s% qq A qrdr t eYi a Hqr B sb.qrcil t sTR

80 F. yfr aq elh zoo F. sfr a q{€ +dr t I

**q ro% EkTr t twq-h s-wr:

qtii sfuqrilit t {iciirfd effi
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frErfufun t :

ql?5zlt A qESUTT B

erqfi ait ii

ETq-qi q1 crro vfr aq t. ti

qqERqi' r. it

fiiliur qi n. d

TiqrtrT 6it it

r.000

125

28.000

8.000

830

70

200

10,000

5.250

780

A comapny undertook a contract for a total value of Rs. 24.00.000. Prepare a contract account

for the year ending 3lst March.2013 from the fbllowing particulars :

yffiqT Asr i-qR

qrq El 3d-qTLTt-{ul

(D Wages

(il) Plant

(iii) Material

(tv) Overhead

qifqq 3fu T&-fr s|*-ql

erfrmq frsi rli t-qn

()"

(sTsar)

Rs. 6.00.000

Rs. 2,00.000

Rs. 3.00.000

Rs. 1,20,000

q1 yfr e{ orrkT ql qERtf, qitqq 
I

Ctqq I

(u) Depreciation @ l0% to be provided on plant.

P.T.O.
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(vi) Mareriar rying at the site on 3rst Marcrr,2013 Rs.40,000

(t'ii) work certified was to the exte't of Rs. r6.00.000 andgq,hof the sarre was recei'ed
in cash.

(t'iii) 5%o of the value of nlaterial issue'd and 6o/uof the wages ma-v be taken to lral,e bcen
incurred for trre porlion of w.rk corrpreted but not ),et ccrrifrecr.

(ix) Overhead are charged as perccntage of direct w&scs.

(x) Ignore depreciation on plant for use on uncertified portion of the work.

(xi) Ascertain notional profit and the amount to be transferred to profit and ross accourt.
(rir) Show the working clearly.

ll
qfr sq-fr i z+"oo.oo0 {. d w {G c R^rq-<T qT qR a ftqT | 31 srd, 2013al q'r* ed * fdq fficrfud f*q{.,} t *-hqT d=, tq* cfqq ;

(/) TrsrqRqf 
6,00.000 F.

(ii) v{{ 2.oo.ooo F.

(iii) qlqfi 
3.00.000 F.

(") wft-qq l.2o.ooo F.

(v) {tr1'-6fs Efr Rtd q{ l0% m1 qr t qqqqr Cfqq I

(vz) *'{c qq 31 q-d, 2013 *) .rs d q*'n 40.000 {. si t I

(r'i4 €F{rfuf, q-{ 16.00,000 F. s.r qT etr Vg*l 80% td_g qrq gstT I
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(vrii) qrfr RTqrn * qe qr s% et{ .r.KR ii qr 6% wf fua -,a sTd qFr * lda
sd iqrqr qqr Qn qrE enfi Tfi rrflTfr-d l-S Ca{r t I

(/x) Bqkqq vFTqJ q-q-{R ii qi qFd{rdRT * sq ii fuqr qTdT t I

(x) sTd ii er€RTfrd qi-rT q{ e*' * R {f{ q{ Ts6rs r{ cq' q i I

(xi) erf\rrqrcrrq mrq eirr enq nqT ETfr fu i einkd q.| wi qrdr {TRr ql
ghtr-qn +ifqq I

(xiD q-rd qi sq sq ii sERfd *"rfqq I

4. (a) Given the following information :

Fixed Cost Rs. 4.000

Break-even sale Rs. 20.000

Profit Rs. 1,000

Selling price per unit Rs. 20

Calculate:

qfd xF€ f{Erq m.tqd

(/) Sales and marginal cost of sales, and

(i, New break-even point if selling price is reduced bv l0%.

frqkfun {qrd Ei .ri t :

T{nqi erfkT 4.000 F.

mq-qcilcT ftqfr ti ffi 2o,ooo F.

1,000 {.

20 {.

P.T.O.



(12)

qRffir{ qifqq :

(r) ffi efu M qi €iqid orrrfl, 3t{

127 1

(ii) Tqt otq-erctTq ftig qR fq*-q stq-d l0% qa <i qrA I

(hl A company annually,manufactures and sells 20.000 units of a product, the selling price

of which is Rs. 50 and prof-rt earned is Rs' 10 per unit'

The analysis of cost of 20,000 units is :

Material cost Rs. 3,00.000

Labour cost Rs. 1.00.000

Overheads Rs. 4,00.000 (50% is variable)

Compute:

Break-even sales in units and in Rupees'

qs sqfi qpil-{t q{ Billq q1 zo.ooo 1fr.t el oa'6 3t{ ffi t | {q-m1

tdfiq 6nlqd 50 F. 3fu erffn orq 10 F. vfd {f{. t I

2o,ooo {fr.i o1 orTd ol ffiwr {s e-fl{ t :

q|q,n e1 mq-o 3.oo.ooo F.

}rq d-rl-d

3qR-4q

dfqq :

1.00.000 F.

4.oo.ooo {. (so% qkdfi b

1F{a i 3fu Fq=ii ii orq-erorq fq-*1 |
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Or

(3TTEr)

From the following particulars calculate machine hour rate :

(t) Cost of machine Rs. 1,00.000

Estimated life

Scrap value

l0 years

Rs. 10.000.

(il) Estimated working time 50 weeks of 44 hrs each. lt includes the fbllorving :

Time taken up in maintenance 200 hrs

Setting up time 100 hrs.

However, setting up time is regarded as productive tin-re.

(iii) Power used during production, is 16 units per hour @ 9 paise per unit. No current

is taken during maintenance or setting up time.

(iv) The machine requires a chemical solution. which is replaced at the end of each week

at a cost of Rs. 20 each time.

(v) Cost of maintenance Rs. 1.200 per annum.

(vi) Two attendants control the operation of this machine together with five other indentical

machines. Their combined u'eekly wages amount to Rs. 120.

(vli) General work overheads allocated to this machine for the year amount to

Rs. 2,000. 11

P.T.O.
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fqq$i t qqnr da_qq 41 qftq_6n

(i) qTn-{ m1 mq-d 1.oo.ooo F.

127 |

s?Fqq :

erjqrF{d qtqr

d.v 1iu

10 Ed

10.000 F.

(ii) 3l-Jqrff,d sT4[irm enqfr] 44 v) eTA so RRr6 | {gq ffi6sq Tnfru,t:
rqrcrr tl o,n Rqq zoo ri)

tfrq q'C ff qqq roo rD

nwfu tiirr e-G ql qqq BiqK{ {TrH qHr qrdT t I

(ii, FdT'*{ * dTr efu if di G &'c, s t$ erd {hz qfi qr t ro qag
qfr qcr qd *fi t | {s{srr 3TerEil aftT sG RTq *x Frc srq ii Tsdqrdit I

(ir, qvnr *] ireiqhe. fr-crqq ql q-s_ra Wd, t ftd et €REid q(ffn qear
t M drrRr y-S+ eR 20 {. erf,i t I

(v) {s{urq qT en ro 1.200 F. efr ed t I

(vi) a qkfl Fq rrvfrq * sqrsT u* 31h --q-* qrq dq erq HTsq qqftit *1qi tn*fn ERt t r sq-d Rfrqiffi qr*r*s- reqfr4i. rzo F. eff t I

(uii) Hrffa1 sTd ri.isli -qf,-qq q] {* q{frr * frq 3ilEifrd fm-qr qi-dr t q-a
2,ooo F. t I
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5.Theexpensesbudgetedforproductionofl0.000unitsinafactoryarefurnishedbelow:

Material

Labour

Variable overheads

Fixed overheads (Rs' 1'00'000)

Variable expenses (Direct)

Selling expenses (10% hxed)

Distribution expenses (20% frxed)

Administration expenses (Rs' 50'000)

€Iqfr

,tE{

qfiqfi gqR-qq

lrltm sqftqq (1,oo,ooo {')

qR.dfi €rS (Fqq)

trf,q qq (10% €rT*)

f{d{ur sd (zox €Irqb

Rs. pet untt

70

25

20

l0

5

1a
IJ

7

5

155

Prepare a budget for the production of:

(t) 8,000 units and

(,,) 6.000 units' r..^+i^- i I

Assume that administration expenses are rigid for all level of production'

qsffiii10,0ooafr-.ide-iqfi*tdqE-f,Eq€-d*aR}qrct:
qfd af{z t'

70

25

20

10

5

13

I

5

155

qfl{F{-{ gd (so,ooo {')

P.T.O.
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FmfuFqa * scqr<q + idq e-q-r tqt{ qtfqq :

(i) 8,ooo {Tc

(ri) o,ooo 1r{a I

q6 ql"I ti fd ernqr{fi rsfr, esK-q * qql Kii * ff,q EE t I

a.

(sTerqr)

(a)Whatdoyoumeanbl,'cashbudget?Explainitsttses'

tqg q-e-e t 3{It{ +il {qSA lF I qw* 3q*Iit e1 qrcqr 4ifqq I

(b)Distinguishbetweennotmallossandabrrormalloss.4

qqrq' ffi efr{ 3rqFil-et ETfr n ui6i e-orfl |

(c) what are the assumptions on which marginal costing technique is based ? 3

a eTf\rrr6 fli t fuq q{ qiqid drrld frqi{uT ilq'ii-{ enqTkd t ?

l61271
31.000


